Trigonometry Page 101

Supplementary Problems — Section 4.4

Use a calculator to approximate two values of 8 (0" < 8 < 360°) that satisfy the equation.
Round the values to two decimal places.

—

1. sin@=08191 54,94 2. cos0=08746 g
125. 0l 33|

3. cot @=-15047 |4b.29 4. csc@=-13612 2277 28
%2 . 39 : 212, 12

Use a calculator to approximate two values of 8 (0 < 6 < 2m) that satisfy the equation.
Round the values to three decimal places.

5. cos@=09848 (), (715 6. tanO=1192 H. 81>
bLl0Y 4,014

7. sin@=00175 5 ;|9 8. cot@=5671 N./15
2,1 204 2.2l b

9. sec @=-26667 | g5 10. csc @=-13214 400
A4.22% 5425

Co-function Problems

1. \ sin 65° = 0.0963 cos 65° =0.4226
‘tan 65° =2.145 cot 65° = 0.4663
sac 65° = 2.366 csc 657 =1.103

Find the six function values of 25°

Fill in the blank:
2. If cos® 50'= 0.7660, then sin = (0.7660
3. If csc 2 ~1.2790, then sec ~1.2790

4. If ¢sc32=1.3764,then sec = 1.3764 o
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Change each degree measure to radian measure.

o {ZT o —’497}‘ o 20’6

1. 140 1 2. 860 & 3. 12000 22
4. -300° -S1 5. —405° 47 6. 280° 47T
> 3 E

Change each radian measure to degree measure.

-3n . 11w P 2n 2o
7. =% o8 8 = Lio 5. = g
10. —4%71 ~-910° 11. ‘152” —4ga°® 12. %’1 2RR°

3 T T s

o » n P _ —-&,D
13. T 103 4.5 3 15. - =

Find the exact value of each trigonometric function.

1. tan (510°) 'é 2. CSC% (2 3. sin(-90°) - |
4. cot1665° | 5. cot30° {3 6. tan315° - |
7. csct {z 8 tan = (3 9. cot 1110° A3,
10. cos 270° © 11. csc (-45°) ~ [2. 12. sin 30° —é-_
13.sec2mt | 14. cot (-30°) -3 15. csc 3T A

4.4 extra problems

Find the value of @.in radians and in degrees.

- r K
1. sinf= 04565 8T 8 3. cotf = 23545 °
2.t (5284 Z%. 2.6
2 2,01 a0 3,5
2. cos@ = 0.8746 4. sech= 13746 o g
2| A
AR e 8452

B 5\7?
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